
1031 Bronze Globe Valve
Bronze globe valve BS 5154 PN32 Series B, Metal Disk

GENERAL INFORMATION

Pattern No. key :Standard Thread = BS21 Taper, AT = American Thread, PT = Parallel Thread

Size Pattern No. Pack 1 Qty Code Barcode Discontinued

1/4 1031 10 112005 5013866013263 01/07/2003

3/8 1031 10 112006 5013866013270 01/07/2003

1/2 1031 10 112007 5013866013287  

3/4 1031 5 112008 5013866013294  

1 1031 5 112009 5013866013300  

1 1/4 1031 2 112010 5013866013317  

1 1/2 1031 2 112011 5013866013324  

2 1031 1 112012 5013866001734  

2 1/2 1031 1 112013 5013866001741 01/07/2003

3 1031 1 112014 5013866001758 01/07/2003

4 1031 1 112015 5013866001765 30/04/2003

1/4 1031 AT 10 112025 753818003632 01/07/2003

3/8 1031 AT 10 112026 753818003649 01/07/2003

1/2 1031 AT 0 112027 5022050287786 08/07/2008

3/4 1031 AT 0 112028 5022050318374 08/07/2008

1 1031 AT 0 112029 5022050287854 08/07/2008

1 1/4 1031 AT 2 112030 753818003687 31/10/2004

1 1/2 1031 AT 0 112031 5022050318435 21/07/2006

2 1031 AT 0 112032 5022050287922 21/07/2006

1/4 1031 PT 10 112045 5013866013331 01/07/2003

3/8 1031 PT 10 112046 5013866013348 01/07/2003

1/2 1031 PT 1 112047 5022050228031 21/07/2006

3/4 1031 PT 0 112048 5022050288004 21/07/2006

1 1031 PT 1 112049 5022050228093 21/07/2006

1 1/4 1031 PT 0 112050 5022050288073 21/07/2006

1 1/2 1031 PT 0 112051 5022050318497 21/07/2006

2 1031 PT 1 112052 5013866001840 21/07/2006

DIMENSIONS (mm)

Code Description A B Kg

112005 1/4 1031 GM GLOBE VALVE 44 76 0.20

112006 3/8 1031 GM GLOBE VALVE 46 76 0.20

112007 1/2 1031 GM GLOBE VALVE 57 95 0.39

112008 3/4 1031 GM GLOBE VALVE 65 98 0.55

112009 1 1031 GM GLOBE VALVE 78 114 0.87

112010 1.1/4 1031 GM GLOBE VALVE 89 138 1.45

112011 1.1/2 1031 GM GLOBE VALVE 100 159 1.83

112012 2 1031 GM GLOBE VALVE 121 170 2.61

112013 2.1/2 1031 GM GLOBE VALVE 159 205 6.37

112014 3 1031 GM GLOBE VALVE 187 235 8.91

112015 4 1031 GM GLOBE VALVE 235 280 16.71

112025 1/4 1031 AT GM GLOBE VALVE 44 76 0.20

112026 3/8 1031 AT GM GLOBE VALVE 46 76 0.20

112027 1/2 1031 AT GM GLOBE VALVE 57 95 0.38

112028 3/4 1031 AT GM GLOBE VALVE 65 98 0.54

112029 1 1031 AT GM GLOBE VALVE 78 114 0.84

112030 1.1/4 1031 AT GM GLOBE VALVE 89 138 1.36

112031 1.1/2 1031 AT GM GLOBE VALVE 100 159 1.84

112032 2 1031 AT GM GLOBE VALVE 121 170 2.80

112045 1/4 1031 PT GM GLOBE VALVE 44 76 0.20

112046 3/8 1031 PT GM GLOBE VALVE 46 76 0.20

112047 1/2 1031 PT GM GLOBE VALVE 57 95 0.38

112048 3/4 1031 PT GM GLOBE VALVE 65 98 0.54

112049 1 1031 PT GM GLOBE VALVE 78 114 0.84

112050 1.1/4 1031 PT GM GLOBE VALVE 89 138 1.36

112051 1.1/2 1031 PT GM GLOBE VALVE 100 159 1.84

112052 2 1031 PT GM GLOBE VALVE 121 170 2.80

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk



PRESSURE & TEMPERATURE

1031 Bronze Globe Valve Minimum Operating

Pressure (bar)

Maximum Cold Working

Pressure (bar)

Maximum Hot

Working Pressure (bar)

1/2 1031 PT GM GLOBE

VALVE

No Minimum Operating

Pressure

32.0 bar at temperatures up to

100oC

14.0 bar at temperatures up to

198oC

MATERIAL SPECIFICATIONS

Number Component Material

1 Body Gunmetal

2 Bonnet Forged Brass

3 Stem Brass Bar

4 Disk Ring Brass Bar

5 Disk Brass Bar

6 Gland Brass Bar

7 Gland Nut Brass Bar

8 Packing PTFE

9 Handwheel Aluminium

10 Handwheel Nut Brass Bar

11 Rating Disc Aluminium

SPARES

1

Pattern / Size Description Code Barcode Date From Date To

1031 / 1/4 WN1 HANDWHEEL NUT BRASS (M5) 850481 5013866060977 01/01/1900 current

1031 / 3/8 WN1 HANDWHEEL NUT BRASS (M5) 850481 5013866060977 01/01/1900 current

1031 / 1/2 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 / 3/4 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 / 1 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 / 1.1/4 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 / 1.1/2 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 / 2 WN14 HANDWHEEL NUT BRASS (M8) 850512 5013866061141 01/09/1999 current

1031 / 2 WN3 HANDWHEEL NUT BRASS (5/16 UNC) 851411 5013866063923 01/01/1990 31/08/1999

1031 / 2.1/2 WN4 HANDWHEEL NUT BRASS (3/8 UNC) 851412 5013866063930 01/01/1900 current

1031 / 3 WN5 HANDWHEEL NUT BRASS (7/16 UNC) 850483 5013866060991 01/01/1900 current

1031 / 4 WN6 HANDWHEEL NUT BRASS (1/2 UNC) 850484 5013866061004 01/01/1900 current

1031 PT / 1/4 WN1 HANDWHEEL NUT BRASS (M5) 850481 5013866060977 01/01/1900 current

1031 PT / 3/8 WN1 HANDWHEEL NUT BRASS (M5) 850481 5013866060977 01/01/1900 current

1031 PT / 1/2 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 PT / 3/4 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 PT / 1 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 PT / 1.1/4 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 PT / 1.1/2 WN2 HANDWHEEL NUT BRASS (M6) 850482 5013866060984 01/01/1900 current

1031 PT / 2 WN3 HANDWHEEL NUT BRASS (5/16 UNC) 851411 5013866063923 01/01/1990 31/08/1999

1031 PT / 2 WN14 HANDWHEEL NUT BRASS (M8) 850512 5013866061141 01/09/1999 current

2

Pattern / Size Description Code Barcode Date From Date To

1031 / 1/4 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 / 3/8 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 / 1/2 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 / 3/4 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 / 1 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 / 1.1/4 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 / 1.1/2 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 / 2 RATING DISC 1031 - SIZE 2 850460 5013866060809 01/01/1900 current

1031 / 2.1/2 RATING DISC 1031 - SIZE 3 850261 5013866059810 01/01/1900 current

1031 / 3 RATING DISC 1031 - SIZE 3 850261 5013866059810 01/01/1900 current

1031 / 4 RATING DISC 1031 - SIZE 3 850261 5013866059810 01/01/1900 current

1031 PT / 1/4 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 PT / 3/8 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 PT / 1/2 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 PT / 3/4 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 PT / 1 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 PT / 1.1/4 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 PT / 1.1/2 RATING DISC 1031 - SIZE 1 850459 5013866060793 01/01/1900 current

1031 PT / 2 RATING DISC 1031 - SIZE 2 850460 5013866060809 01/01/1900 current

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk



3

Pattern / Size Description Code Barcode Date From Date To

1031 / 1/4 W1 HANDWHEEL (RED) 850100 5013866059513 01/01/1900 current

1031 / 3/8 W1 HANDWHEEL (RED) 850100 5013866059513 01/01/1900 current

1031 / 1/2 W3 HANDWHEEL (RED) 850101 5013866059520 01/05/2000 current

1031 / 1/2 W4 HANDWHEEL (RED) 850102 5013866059537 01/01/1990 30/04/2000

1031 / 3/4 W4 HANDWHEEL (RED) 850102 5013866059537 01/01/1900 current

1031 / 1 W5 HANDWHEEL (RED) 850103 5013866059544 01/01/1900 current

1031 / 1.1/4 W6 HANDWHEEL (RED) 850104 5013866059551 01/01/1900 current

1031 / 1.1/2 W7 HANDWHEEL (RED) 850105 5013866059568 01/01/1900 current

1031 / 2 W8 HANDWHEEL (RED) 850106 5013866059575 01/01/1900 current

1031 / 2.1/2 W10 HANDWHEEL (RED) 850107 5013866059582 01/01/1900 current

1031 / 3 W12 HANDWHEEL (RED) 850108 5013866059599 01/01/1900 current

1031 / 4 W14 HANDWHEEL (RED) 850109 5013866059605 01/01/1900 current

1031 PT / 1/4 W1 HANDWHEEL (RED) 850100 5013866059513 01/01/1900 current

1031 PT / 3/8 W1 HANDWHEEL (RED) 850100 5013866059513 01/01/1900 current

1031 PT / 1/2 W4 HANDWHEEL (RED) 850102 5013866059537 01/01/1990 30/04/2000

1031 PT / 1/2 W3 HANDWHEEL (RED) 850101 5013866059520 01/05/2000 current

1031 PT / 3/4 W4 HANDWHEEL (RED) 850102 5013866059537 01/01/1900 current

1031 PT / 1 W5 HANDWHEEL (RED) 850103 5013866059544 01/01/1900 current

1031 PT / 1.1/4 W6 HANDWHEEL (RED) 850104 5013866059551 01/01/1900 current

1031 PT / 1.1/2 W7 HANDWHEEL (RED) 850105 5013866059568 01/01/1900 current

1031 PT / 2 W8 HANDWHEEL (RED) 850106 5013866059575 01/01/1900 current

4

Pattern / Size Description Code Barcode Date From Date To

1031 / 1/4 GN1 GLAND NUT 850310 5013866059889 01/01/1990 30/04/2000

1031 / 3/8 GN1 GLAND NUT 850310 5013866059889 01/01/1990 30/04/2000

1031 / 1/2 GN3 GLAND NUT 842046 5013866059117 01/01/1900 current

1031 / 3/4 GN3 GLAND NUT 842046 5013866059117 01/01/1990 30/04/2000

1031 / 1 GN4 GLAND NUT 842048 5013866059124 01/01/1990 30/04/2000

1031 / 1.1/4 GN5 GLAND NUT 850311 5013866059896 01/01/1990 30/04/2000

1031 / 1.1/2 GN6 GLAND NUT 851070 5013866063879 01/01/1990 30/04/2000

1031 / 2 GN7 GLAND NUT 851205 5013866063909 01/01/1990 30/04/2000

1031 / 2.1/2 GN23 GLAND NUT 851029 5013866063862 01/01/1900 current

1031 / 3 GN24 GLAND NUT 852907 5013866063985 01/01/1900 current

1031 / 4 GN16 GLAND NUT 850318 5013866059957 01/01/1900 current

1031 PT / 1/4 GN1 GLAND NUT 850310 5013866059889 01/01/1990 30/04/2000

1031 PT / 3/8 GN1 GLAND NUT 850310 5013866059889 01/01/1990 30/04/2000

1031 PT / 1/2 GN3 GLAND NUT 842046 5013866059117 01/01/1900 current

1031 PT / 3/4 GN3 GLAND NUT 842046 5013866059117 01/01/1990 30/04/2000

1031 PT / 1 GN4 GLAND NUT 842048 5013866059124 01/01/1990 30/04/2000

1031 PT / 1.1/4 GN5 GLAND NUT 850311 5013866059896 01/01/1990 30/04/2000

1031 PT / 1.1/2 GN6 GLAND NUT 851070 5013866063879 01/01/1990 30/04/2000

1031 PT / 2 GN7 GLAND NUT 851205 5013866063909 01/01/1990 30/04/2000

4A

Pattern / Size Description Code Barcode Date From Date To

1031 / 1/4 GN62 GLAND NUT (CHAMFERED) 850790 5013866062292 01/05/2000 current

1031 / 3/8 GN62 GLAND NUT (CHAMFERED) 850790 5013866062292 01/05/2000 current

1031 / 1/2 GN8 GLAND NUT 850312 5013866059902 01/05/2000 current

1031 / 3/4 GN8 GLAND NUT 850312 5013866059902 01/05/2000 current

1031 / 1 GN63 GLAND NUT (CHAMFERED) 850791 5013866062308 01/05/2000 current

1031 / 1.1/4 GN64 GLAND NUT (CHAMFERED) 850792 5013866062315 01/05/2000 current

1031 / 1.1/2 GN65 GLAND NUT (CHAMFERED) 850793 5013866062322 01/05/2000 current

1031 / 2 GN66 GLAND NUT (CHAMFERED) 850794 5013866062339 01/05/2000 current

1031 PT / 1/4 GN62 GLAND NUT (CHAMFERED) 850790 5013866062292 01/05/2000 current

1031 PT / 3/8 GN62 GLAND NUT (CHAMFERED) 850790 5013866062292 01/05/2000 current

1031 PT / 1/2 GN8 GLAND NUT 850312 5013866059902 01/05/2000 current

1031 PT / 3/4 GN8 GLAND NUT 850312 5013866059902 01/05/2000 current

1031 PT / 1 GN63 GLAND NUT (CHAMFERED) 850791 5013866062308 01/05/2000 current

1031 PT / 1.1/4 GN64 GLAND NUT (CHAMFERED) 850792 5013866062315 01/05/2000 current

1031 PT / 1.1/2 GN65 GLAND NUT (CHAMFERED) 850793 5013866062322 01/05/2000 current

1031 PT / 2 GN66 GLAND NUT (CHAMFERED) 850794 5013866062339 01/05/2000 current

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk



5

Pattern / Size Description Code Barcode Date From Date To

1031 / 1/4 G1 GLAND 855236 5013866065163 01/01/1900 current

1031 / 3/8 G1 GLAND 855236 5013866065163 01/01/1900 current

1031 / 1/2 G3 GLAND 842043 5013866059094 01/01/1900 current

1031 / 3/4 G3 GLAND 842043 5013866059094 01/01/1900 current

1031 / 1 G4 GLAND 842045 5013866059100 01/01/1900 current

1031 / 1.1/4 G5 GLAND 850301 5013866059827 01/01/1900 current

1031 / 1.1/2 G6 GLAND 850302 5013866059834 01/01/1900 current

1031 / 2 G7 GLAND 850303 5013866059841 01/01/1900 current

1031 / 3 G14 GLAND 852160 5013866063961 01/01/1900 current

1031 / 4 G9 GLAND 850306 5013866059858 01/01/1900 current

1031 PT / 1/4 G1 GLAND 855236 5013866065163 01/01/1900 current

1031 PT / 3/8 G1 GLAND 855236 5013866065163 01/01/1900 current

1031 PT / 1/2 G3 GLAND 842043 5013866059094 01/01/1900 current

1031 PT / 3/4 G3 GLAND 842043 5013866059094 01/01/1900 current

1031 PT / 1 G4 GLAND 842045 5013866059100 01/01/1900 current

1031 PT / 1.1/4 G5 GLAND 850301 5013866059827 01/01/1900 current

1031 PT / 1.1/2 G6 GLAND 850302 5013866059834 01/01/1900 current

1031 PT / 2 G7 GLAND 850303 5013866059841 01/01/1900 current

6

Pattern / Size Description Code Barcode Date From Date To

1031 / 1/4 GP2 GLAND PACKING 855248 5013866065217 01/01/1900 current

1031 / 3/8 GP2 GLAND PACKING 855248 5013866065217 01/01/1900 current

1031 / 1/2 GP3 GLAND PACKING 842040 5013866059070 01/01/1900 current

1031 / 3/4 GP3 GLAND PACKING 842040 5013866059070 01/01/1900 current

1031 / 1 GP4 GLAND PACKING 842042 5013866059087 01/01/1900 current

1031 / 1.1/4 GP5 GLAND PACKING 850006 5013866059292 01/01/1900 current

1031 / 1.1/2 GP6 GLAND PACKING 850079 5013866059506 01/01/1900 current

1031 / 2.1/2 GP24 GLAND PACKING 852950 5013866064029 01/01/1900 current

1031 / 3 GP25 GLAND PACKING - DISCONTINUED 852953 5013866064036 01/01/1900 current

1031 / 4 GP15 GLAND PACKING 850330 5013866060052 01/01/1900 current

1031 PT / 1/4 GP2 GLAND PACKING 855248 5013866065217 01/01/1900 current

1031 PT / 3/8 GP2 GLAND PACKING 855248 5013866065217 01/01/1900 current

1031 PT / 1/2 GP3 GLAND PACKING 842040 5013866059070 01/01/1900 current

1031 PT / 3/4 GP3 GLAND PACKING 842040 5013866059070 01/01/1900 current

1031 PT / 1 GP4 GLAND PACKING 842042 5013866059087 01/01/1900 current

1031 PT / 1.1/4 GP5 GLAND PACKING 850006 5013866059292 01/01/1900 current

1031 PT / 1.1/2 GP6 GLAND PACKING 850079 5013866059506 01/01/1900 current

CARE & MAINTENANCE

Care 
No regular aesthetic care is required for this product

Maintenance 
A regular maintenance program is the most efficient method of ensuring longer term operational efficiency of the
selected valve. Such a program would need to include a risk assessment and a planned procedure of how the
maintenance will be carried out. The possibility of operational limits being exceeded and the potential hazards
ensuring must be considered as part of this assessment. This should be implemented to include visual checks
on the valve’s condition and any development of unforeseen conditions, which could lead to failure. The correct
fitting tools and equipment should be used for valve maintenance work. Separate means of draining the pipe
work must be provided when carrying out any maintenance to valves. Where there may be any system debris this
could be collected and /or filtered by installation of the appropriate protective device.

For further help please contact your local engineer.

If your product is under warranty please contact the Service Support Team on: 0800 1560050

REGULATIONS

Regulations 
THE PRESSURE EQUIPMENT DIRECTIVE 97/23/EC and CE MARKING 
The Pressure Equipment Regulations 1999 (SI 1999/2001) have now been introduced into United Kingdom law.

Valves with a maximum allowable pressure greater than 0.5 bar are covered by these new Regulations. Valves
are categorised according to their maximum working pressure, size and rising level of hazard. The level of hazard
varies according to the fluid being carried. Fluids are classified as Group 1, dangerous fluids or Group 2, all other
fluids including steam. The Categories designated are SEP (sound engineering practice). Valves up to and
including 25mm (1”) are designated SEP regardless of the fluid group. Those identified as having increased
hazard are Categorised as, I, II, III or IV. All valves designated as SEP do not bear the CE mark nor require a
Declaration of Conformity. Categories I, II, III or IV carry the CE mark and require a Declaration of Conformity.
Valves classified from the piping chart would not be included in Category IV.

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk



GUARANTEE

Valves and Fittings 

Pegler Yorkshire Customcare 5 Year Guarantee - Terms and Conditions 

Products are subject to a 5 year guarantee that is between Pegler Yorkshire and the final purchaser of the
product. 

The guarantee is subject to proof of purchase being supplied. 

This guarantee does not affect any statutory rights the consumer may have in law. 

The guarantee covers manufacturing or material defects and does not cover parts subject to normal wear and
tear. 

This product range has been designed for the use of homeowners, domestic and commercial applications and
therefore the guarantee is subject to the product being properly selected for their intended service conditions. 

The guarantee is not applicable where the product is fitted contrary to the conditions in the fitting instructions. 

This is reinforced where valves are covered by the European Pressure Equipment Directive (PED97/23/EC)
where Installation, Operating and Maintenance Instructions are supplied with each product and/or carton. 

Provided it is installed correctly and receives adequate preventative maintenance it should give years of trouble –
free service. 

Abusive behaviour and accidental damage to the product are not covered by this guarantee. 

The extent of this liability is limited to the cost of the replacement of the defective item and not to fitting or
consequential damages.

 

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk



P
roduct D

ata S
heet: Valves P

ackage
TH

E
 P

R
E

S
S

U
R

E
 E

Q
U

IP
M

E
N

T D
IR

E
C

TIV
E

97/23/E
C

 &
 C

E
 M

A
R

K
IN

G
T

he P
ressure E

quipm
ent R

egulations 1999 (S
I 1999/2001) have

now
 been introduced into U

nited K
ingdom

 law
. Valves w

ith a
m

axim
um

 allow
able pressure greater than 0.5 bar are covered by

these new
 R

egulations. Valves are categorised according to their
m

axim
um

 w
orking pressure, size and rising level of hazard. T

he
level of hazard varies according to the fluid being carried. F

luids
are classified as G

roup 1 ,dangerous fluids or G
roup 2, all other

fluids including steam
. T

he categories designated are S
E

P
(sound

engineering practice). Valves up to and including 25m
m

 (1") are
designated S

E
P

regardless of the fluid group. T
hose identified as

having increased hazard are categorised as, I, II, III or IV. A
ll valves

designated as S
E

P
do not bear the C

E
 m

ark nor require a
D

eclaration of C
onform

ity. C
ategories I, II, III or IV

 carry the C
E

m
ark and require a D

eclaration of C
onform

ity. Valves classified
from

 the piping chart w
ould not be included in C

ategory IV.
C

E
 M

A
R

K
IN

G
 &

 TH
E

 A
TE

X
 D

irective 94/9/E
C

C
oncerning equipm

ent and protection system
s intended for use in

potentially explosive atm
ospheres. T

his has been im
plem

ented in
U

nited K
ingdom

 law
 by the E

quipm
ent and P

rotective S
ystem

s
Intended for U

se in P
otentially E

xplosive A
tm

osphere R
egulations

1996(31 
1996/192) 

and 
am

ended 
by 

T
he 

E
quipm

ent 
and

P
rotective 

S
ystem

s 
(am

endm
ent) 

R
egulations 

2001
(S

I2001/3766). T
he regulations apply to all valves w

here each
valve: a) has its ow

n potential source of ignition. b) operates in a
potentially explosive atm

osphere created by:
i)  the presence of air/dust m

ixtures external to the valve.
ii)

the presence of gases, vapours, m
ists released from

 the
valve through leakage.

T
he regulations w

ill not apply to a valve w
ithout a potential source

of ignition, w
hich operates in a dust free environm

ent and the fluid
being transported is cold, inert gas or non-flam

m
able liquid. T

he
requisite 

level 
of 

protection 
for 

valves 
not 

exem
pt 

from
 

the
regulations is defined as G

roup II category 2 and shall bear the
follow

ing m
arkings:       II 2 G

D
 X

VA
LV

E
 S

E
LE

C
TIO

N
S

election, S
torage &

 P
rotection

Valves 
m

ust 
be 

properly 
selected 

for 
their 

intended 
service

conditions. P
rovided it is installed correctly and receives adequate

preventative 
m

aintenance 
it 

should 
give 

years 
of 

trouble-free
service. 

T
hey 

m
ust 

be 
com

patible 
w

ith 
the 

system
 

design,
pressure and tem

perature requirem
ents and m

ust be suitable for
the fluids that they are intended to carry. Interactions betw

een
m

etals in the pipe system
 and the valve m

ust be considered as
part of the valve selection.
Valves should be stored off the ground in a clean, dry, indoor area.

W
here desiccant bags are included w

ith the valve these should be
changed after a period of 6 m

onths.
P

egler valves are supplied in cardboard cartons or are bagged as
appropriate and so adequate protection from

 dam
age is provided. 

W
hen 

P
egler 

valves 
are 

fitted 
w

ith 
pressure 

equipm
ent 

or
assem

blies, suitable protective devices m
ay be required.

P
R

E
S

S
U

R
E

/TE
M

P
E

R
A

TU
R

E
 R

A
TIN

G
Valves m

ust be installed in a piping system
 w

hose norm
al pressure

and tem
perature does not exceed the stated rating of the valve.

T
he m

axim
um

 allow
able pressure in valves as specified in the

standards is for non-shock conditions. W
ater ham

m
er and im

pact
should also be avoided.
If system

 testing w
ill subject the valve to pressures in excess of the

w
orking 

pressure 
rating, 

this 
should 

be 
w

ithin 
the 

"shell 
test

pressure for the body" to a m
axim

um
 of 1.5 tim

es the P
N

 rating and
conducted w

ith the valve fully opened.
It m

ay be hazardous to use these valves outside of their specified
pressure and tem

perature lim
itations and also w

hen not used for
the correct application.

LO
C

A
TIO

N
/E

N
D

-O
F-LIN

E
 S

E
R

V
IC

E
To ensure ease of operation, adjustm

ent, m
aintenance and repair,

valve siting should be decided during the system
 design phase.To

prevent im
posing strain on the valve seat, pipe w

ork and valves
they m

ust be adequately supported.
T

he 1072, 1070/125, 1065 and 1068 G
ate valves are suitable for

end of line service but w
e strongly recom

m
end the fitting of a

blanking plug to the dow
nstream

 end of the valve. P
egler B

all,
G

lobe, C
heck, F

langed and Lever G
ate valves are not suitable for

end-of-line service.
IN

S
TA

LLA
TIO

N
H

ealth &
 S

afety
B

efore starting w
ork on any installation a risk assessm

ent m
ust be

m
ade 

to 
consider 

the 
possibility 

of 
operational 

lim
its 

being
exceeded and reduction or elim

ination of any potential hazards.
1. P

rotective clothing and safety equipm
ent m

ust be utilised as
appropriate to the hazard presented by the nature of the process
to w

hich the valve is being installed or m
aintained.

2. B
efore installing or rem

oving a valve the pipeline circulating
pum

ps (w
hen fitted) m

ust be turned off. T
he pipeline m

ust be de-
pressurised, drained and vented. Valves m

ust be fully opened to
ensure release of any pipeline or valve pressure.
3. F

itters m
ust be trained in m

anual and m
echanical handling to

enable them
 to safely lift and install P

egler valves.
4. T

he valve selected m
ust be suitable for the required service

conditions. T
he pressure and tem

perature lim
itations are indicated

on the valve nam
eplate, body or data plate. T

hese m
ust not be

exceeded.
5. Valve seats, seals and internal com

ponents can be dam
aged by

system
 debris. P

rotective devices m
ay need to be fitted and

system
 flushing m

ay be required.
6. A

ny flushing fluid used to clean the pipeline m
ust not cause any

dam
age to the valve and its com

ponents.
7. P

egler valves m
ust not be m

isused by lifting them
 by their hand

w
heels, levers or stem

s.
8. 

P
egler 

valves 
are 

not 
suitable 

for 
fatigue 

loading, 
creep

conditions, 
fire 

testing, 
fire 

hazard 
environm

ent, 
corrosive 

or
erosive service, or for carrying fluids containing abrasive solids.
T

here is no allow
ance for corrosion in the design of these valves.

D
esigns for this valve do not allow

 for decom
position of unstable

fluids and m
ust not be used w

here this could occur.
9. P

egler valves are not designed to w
ithstand the effects of fire,

w
ind, earthquakes and traffic.

10. A
ll H

ealth and S
afety R

ules m
ust be follow

ed w
hen installing

and m
aintaining valves.IN

S
TA

LLA
TIO

N
U

npack the valve and check that the flow
 paths and valve threads

are clean and free from
 debris.

C
heck the body m

arkings and nam
eplate to ensure that the correct

valve has been selected for installation.
G

ate valves and G
lobe valves

m
ay be fixed in "V

ertical pipe w
ork

w
ith stem

 horizontal” or “H
orizontal pipe w

ork w
ith stem

 vertical
and upright”. G

lobe valves are m
arked w

ith a directional flow
 arrow

on the body. T
he valve w

ill function correctly providing it is fitted so
that the fluid transported follow

s the indicated flow
 direction.

M
ake sure that a gate valve is fully closed during installation.

F
itting a gate valve in the open position m

ay cause tw
isting and the

gate and seating m
ay not m

ate properly. T
he valve should be

operated from
 fully open to fully closed to test that it has been

correctly installed.
The valve should not be installed in horizontal pipe w

ork w
ith stem

horizontal because full closure m
ay be im

peded by an accum
ulation

of system
 debris. P

egler Valves are m
anufactured to exacting

standards and, therefore, should not be subjected to m
isuse. The

follow
ing should be avoided: *C

areless handling
of the valve

(Valves should not be lifted using the hand w
heel, lever or the stem

).
*D

irt 
and 

debris
entering 

the 
valve 

through 
the 

end 
ports.

*E
xcessive force

during assem
bly and hand w

heel operation.
B

all valves m
ay be fixed in any orientation, alw

ays leaving
enough space for the 90°

operation of the lever handle.
H

orizontal and Vertical pattern check valves
m

ay be fitted in
horizontal pipe w

ork w
ith the cap upper m

ost and vertically w
ith the

flow
 in an upw

ards direction. T
he valve is m

arked w
ith a directional

flow
 arrow

 on the body. T
he valve w

ill function correctly providing it
is fitted so that the fluid transported follow

s the indicated flow
direction. C

heck valves having 6 diam
eters of straight length of

pipe 
upstream

 
and 

3 
diam

eters 
dow

nstream
 

are 
suitable 

for
velocities of 3 m

etres per second. If the valve is situated such that

non uniform
 or pulsating flow

 enters the valve, e.g. the valve is
close to reciprocating pum

ps, then the velocity should not exceed
2 m

etres per second. U
se suitable hangers close to both ends of

the valve in order to rem
ove stresses transm

itted by the pipe.
C

onfirm
 that the pipe threading length is correct to avoid excessive

penetration of the pipe into the valve that w
ould otherw

ise cause
dam

age. C
are should be taken to apply jointing com

pound to the
pipe only and not in the valve threads. S

urplus com
pound w

ill then
be forced outw

ards and w
ill not enter the valve. O

ver use of
com

pound can lead to valve failure on the body ends. T
hreads

should be engaged correctly w
hen tightening the valve onto the

pipe. T
he w

rench should alw
ays be fitted on the body end adjacent

to the joint being m
ade. S

evere dam
age can occur to stem

s,
valves and seats by the use of hand w

heels or levers larger than
those originally supplied by the m

anufacturer, and by w
heel keys.

A
ny electrical com

ponent e.g. actuators, lim
it sw

itches m
ust be

explosion proof and com
ply w

ith the AT
E

X
 D

irective and S
tandards

as listed in B
S

 E
N

 1127-1 clause 6.4.5.
O

P
E

R
A

TIO
N

G
ate Valves

To open - an anti-clockw
ise rotation of the hand w

heel w
ill open the

valve. W
hen it w

ill go no further return the hand w
heel clockw

ise
1/2 turn. To close the valve a clockw

ise rotation of the hand w
heel

w
ill close the valve. C

losure w
ill be confirm

ed w
hen the handle can

be turned no further.
C

aution:
S

ervice applications w
ith extrem

es of tem
perature m

ay
cause the w

edge to becom
e tight in the valve. T

he valve m
ay be

becom
e stiff to operate in these circum

stances. S
uitable hand

protection should be w
orn w

hen operating valves used in extrem
e

tem
perature applications. T

he valve should only be used in the fully
open or fully closed position. G

ate valves are not suitable for
regulating and throttling service.
G

lobe Valves
To open - an anti-clockw

ise rotation of the hand w
heel w

ill open the
valve. W

hen it w
ill go no further return the hand w

heel clockw
ise

1/2 turn.
To close the valve a clockw

ise rotation of the hand w
heel w

ill close
the valve. C

losure w
ill be confirm

ed w
hen the handle can be turned

no further.
C

aution: S
uitable hand protection should be w

orn w
hen operating

valves used in extrem
e tem

perature applications. G
lobe valves are

suitable for regulating and throttling service.
C

heck Valves
T

he H
orizontal/vertical pattern check valves operate according to

the flow
 w

ithin the pipeline and there is no external m
ethod of

operation.
B

all Valves
P

B
 LE

V
E

R
 H

A
N

D
LE

To open - turn the lever 90°
so that it is in line

w
ith the pipe run in w

hich it is installed. To close - turn the lever 90°
so that it is across the line of the pipe in w

hich it is installed. F
ull

opening and closing is com
pleted w

hen a full 90°
is achieved and

the lever is firm
ly set against the stop on the valve body.

P
B

 T
M

odels have lockable handles for use in both open and
closed positions. In the fully open position the T

handle is in line
w

ith the pipe w
ork. To lock the valve in the open position a hexagon

key of the appropriate size can be used to rem
ove the securing

screw
. T

he T
handle can then be lifted from

 the valve. T
his should

then be rotated through 180°
and refitted on to the valve spindle

ensuring the handle slot engages on to the body lug. Insert the
securing screw

 and re-tighten w
ith the hexagon key.

P
B

 E
L

m
odels are fitted w

ith an extended spindle m
echanism

 that
lifts the lever aw

ay from
 the body and is particularly useful w

hen
pipe insulation is being used. T

his version is only available w
ith a

standard lever handle.
C

aution:
S

ervice applications w
ith extrem

es of tem
perature m

ay
cause the ball to becom

e tight in the valve. T
he valve m

ay be
becom

e stiff to operate in these circum
stances. S

uitable hand
protection should be w

orn w
hen operating valves used in extrem

e
tem

perature applications. T
he valve should only be used in the fully

open or fully closed position. B
all valves are not suitable for

regulating or throttling applications.
M

A
IN

TE
N

A
N

C
E

A
regular m

aintenance program
 is the m

ost efficient m
ethod of

ensuring longer term
 operational efficiency of the selected valve.

S
uch a program

 w
ould need to include a risk assessm

ent and a
planned procedure of how

 the m
aintenance w

ill be carried out. T
he

possibility of operational lim
its being exceeded and the potential

hazards ensuing m
ust be considered as part of this assessm

ent.
T

his should be im
plem

ented to include visual checks on the valve’s
condition and any developm

ent of unforeseen conditions, w
hich

could lead to failure. T
he correct fitting tools and equipm

ent should
be used for valve m

aintenance w
ork. S

eparate m
eans of draining

the 
pipe 

w
ork 

m
ust 

be 
provided 

w
hen 

carrying 
out 

any
m

aintenance to valves. W
here there m

ay be any system
 debris

this 
should 

be 
collected 

and/or 
filtered 

by 
installation 

of 
the

appropriate protective  device.
G

land A
djustm

ent.
- T

he gland m
ay need adjustm

ent during
installation and then periodically thereafter to m

aintain a stem
gland seal.
N

O
TE

:
It is recom

m
ended that w

ithin the 1st year the gland be
inspected at 3 m

onthly intervals to check for gland leakage.
G

land R
eplacem

ent
- U

nder norm
al w

orking conditions  P
egler

gate and globe valves do not norm
ally require any m

aintenance,
how

ever, 
in 

the 
event 

of 
m

aintenance 
being 

necessary, 
the

follow
ing procedure should be follow

ed:
B

efore 
starting 

w
ork, 

de-pressurise 
the 

system
, 

turn 
off 

any

circulating pum
ps. S

lacken the hand w
heel nut and rem

ove the
nut, nam

eplate and hand w
heel. R

em
ove the gland nut and gland

ring. U
sing a suitable tool, lift out the existing packing and m

ake
sure the stem

 and stuffing box are clean &
 free from

 debris. C
are

m
ust be taken not to dam

age the valve stem
.

Fit a replacem
ent P

egler packing gland into the stuffing box
and push dow

n firm
ly.

R
e-assem

ble the gland ring and gland nut.
R

e-attach the handw
heel, nam

eplate and nut.
Tighten the gland nut and confirm

 stem
 resistance w

hile operating
the valve. O

nce line pressure is re-established a check for leak
tightness should be m

ade, further adjust the gland nut as required
necessary to achieve a satisfactory seal.
N

B
. P

erm
anent rem

oval of the gland nut and /or the D
ata.

P
late w

ill invalidate the C
E

 com
pliance of this valve. P

egler
B

all valves and C
heck valves are generally N

O
T suitable for

m
aintenance.

A
ccording to valve type, gland packing and valve discs m

ay be
replaced. Valves w

ithin the scope of the AT
E

X
 D

irective w
ith a

protective level defined as G
roup II catergory 2 w

ill operate in Z
one

1 (gases/vapours) or Z
one 21 (dust) designated in B

S
1127-1

E
xplosion prevention and protection. Tools are either "single spark"

e.g. 
screw

driver, 
spanner, 

im
pact 

screw
driver 

or 
"show

er 
of

sparks" e.g. saw
ing or grinding. O

nly steel "single spark" tools are
perm

itted in Z
ones 1 &

 21. Tools causing show
ers of sparks are

only 
perm

issible 
if: 

a) 
no 

hazarous 
explosive 

atm
osphere 

is
present. b) dust deposits have been rem

oved and no dust cloud is
present. T

he use of tools on equipm
ent in Z

ones 1 and 21 should
be subject to a "perm

it to w
ork" system

.
1029 R

enew
able Valve D

isc R
eplacem

ent.
B

efore starting w
ork de-pressurise the system

, turn off any
circulating pum

ps, and ensure the valve is em
pty of fluid. U

sing
a suitable w

rench rem
ove the com

plete bonnet assem
bly from

the valve. C
are should be taken to ensure the pipew

ork is held
securely during this process so that there is no distortion to the
valve threads. A

ny dam
age to the threads could lead to valve

failure. S
lacken and rem

ove disc nut and disc.
A

ssess 
dam

age 
to 

valve 
seat 

replacing 
the 

w
hole 

valve 
if

necessary.
The valve disc can be replaced w

ith an equivalent size disc and
type as appropriate. R

e-attach a replacem
ent disc and disc nut. 

R
e-assem

ble the bonnet in to the valve body, checking for dam
age.

E
nsure the valve bonnet is joined securely to body and w

ill not leak.
N

.B
. The 1029 G

lobe valves have non-m
etallic P

TFE
 valve discs.

Installatio
n, 

O
p

erating
 

&
 

M
aintenance 

Instructio
ns 

are
available from

 S
ales O

ffice.
P

egler 
recom

m
ended 

spares 
m

ust 
be 

used. 
R

efer 
to 

P
egler

Technical D
epartm

ent for further inform
ation.

P
R

O
D

U
C

T LIFE
 S

PA
N

W
hen a valve is properly selected for its service conditions it should

give years of trouble-free service provided it Is installed correctly
and 

receives 
adequate 

preventative 
m

aintenance. 
B

y 
not

considering 
the 

com
patibility 

of 
the 

system
 

design 
and 

the
pressure and tem

perature requirem
ents the life expectancy of the

valves can be adversely affected and valve failure m
ay occur. T

he
nature of the fluid being carried through the valve could also affect
the valve perform

ance as this could lead to prem
ature valve failure.

T
here m

ay also be interactions betw
een m

etals in the pipe system
and the valve w

hich need to be considered. A
ppropriate flushing

and cleaning of the pIpe w
ork Installation should take place w

hen
com

m
issioning the system

 as this w
ould help extend the valve life.

R
eference 

M
aterial: 

P
egler 

Valves 
P

ackage 
B

rochure, 
P

egler
S

pares C
atalogue, and S

pares P
rice list. A

Technical F
ile is held at

D
oncaster as part of the requirem

ents for com
pliance to the

E
uropean P

ressure E
quipm

ent D
irective (P

E
D

 97/23 E
C

).
M

A
IN

TA
IN

IN
G

 
A

 
P

O
LIC

Y
 

O
F 

C
O

N
TIN

U
A

L 
P

R
O

D
U

C
T 

D
E

V
E

LO
P

M
E

N
T

P
E

G
LE

R
 LTD

 R
E

S
E

R
V

E
S

 TH
E

 R
IG

H
T TO

 C
H

A
N

G
E

 S
P

E
C

IFIC
A

TIO
N

, D
E

S
IG

N

A
N

D
 M

A
TE

R
IA

LS
 O

F P
R

O
D

U
C

TS
 LIS

TE
D

 IN
 TH

IS
 LE

A
FLE

T W
ITH

O
U

T

P
R

IO
R

 N
O

TIC
E

.

H
ead O

ffice:
P

egler Lim
ited, S

t C
atherine's A

venue, D
oncaster, S

outh
Yorkshire D

N
4 8D

F
  E

ngland w
w

w
.pegler.co.uk

U
K

 S
ales:

N
orthern Tel: 0870 1200281  F

ax: 01302 560108
S

outhern Tel: 0870 1200282  F
ax: 01302 560458

W
estern Tel: 0870 1200283  F

ax: 01302 560109
uk.sales@

pegler.co.uk

E
xport S

ales:
Tel: 44 (0) 1302 855656  F

ax: 44 (0) 1302 730513
export@

pegler.co.uk
E

x

Engineers Valves

Installation, Operating & Maintenance Instructions
Pressure Equipment Directive

PED 97/23/EC Compliant
A Watertight Guarantee Of Quality

5
0
7
5
 
P
e
g
l
e
r
 
M
a
i
n
t
e
n
a
n
c
e
 
I
n
s
t
r
c
 
 
1
/
3
/
0
5
 
 
9
:
1
9
 
a
m
 
 
P
a
g
e
 
1

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk



PB700
✔

✔
✔

✔
*

✔
*

✔
*

✔
*

✕

PB500 RED
✔

✔
✔

✔
*

✕
✕

✕
✕

PB500 YELLOW
✔

✔
✔

✔
*

✔
*

✔
*

✔
*

✕

PB300 RED/BLUE
✔

✔
✔

✔
*

✕
✕

✕
✕

PB300 YELLOW
✔

✔
✔

✔
*

✔
*

✔
*

✔
*

✕

PB100
✕

✔
✔

✔
*

✕
✕

✕
✕

1065
✕

✔
✔

✕
✕

✕
✕

✕

1068
✔

✔
✔

✕
✕

✕
✕

✕

1072
✔

✔
✔

✕
✕

✕
✕

✕

1070/125
✔

✔
✔

✕
✕

✕
✕

✕

P81M
✔

✔
✔

✕
✕

✕
✕

✕

63
✕

✔
✔

✕
✕

✕
✕

✕

GM63
✕

✔
✔

✕
✕

✕
✕

✕

1029
✔

✔
✔

✔
*

✔
*

✔
*

✔
*

✕

1031
✔

✔
✔

✕
✕

✕
✕

✕

1039
✔

✔
✔

✕
✕

✕
✕

✕

1060A
✔

✔
✔

✕
✕

✕
✕

✕

1062
✔

✔
✔

✕
✕

✕
✕

✕

1063
✕

✔
✕

✔
**

✕
✕

✕
✕

1064
✕

✔
✕

✔
**

✕
✕

✕
✕

1832
✕

✔
✕

✕
✕

✕
✕

✕

833GM, GM LS
✕

✔
✕

✕
✕

✕
✕

✕

Ball Valves P
ro

d
uct

S
team

W
ater

O
il

A
ir

VA
LV

E
 S

U
ITA

B
ILIT

Y
G

as
Inert

*
P

ressure lim
ited to 10 bar for A

ir &
 G

as applications.  **
P

ressure lim
ited to 5 bar for A

ir applications.
*

10 bar for G
as

C
ategory 1 and C

ategory 2 carry the C
E

 m
ark

G
as

C
orrosive

G
as

C
om

bustible
G

as
O

xygen

Globe ValvesCheck ValvesDrain Cocks Gate Valves

P
ro

d
uct

1/4"
3/8"

1/2"
3/4"

1"
1.1/4"

1.1/2"
2"

2.1/2"
3"

4"

T
h

read
 D

ep
th

s (m
m

)

PB700
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

C
at 1

C
at 1

C
at 1

C
at 1

C
at 1

C
at 1

PB500 RED
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

PB500 YELLOW
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

C
at 1

C
at 1

C
at 1

C
at 1

C
at 1

C
at 1

PB300 RED/BLUE
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

PB300 YELLOW
-

-
S

.E
.P

S
.E

.P
S

.E
.P

-
-

-
-

-
-

PB100
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

1065
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

1068
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

1072
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

1070/125
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

P81M
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

63
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

-
-

GM63
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

1029
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

C
at 1

C
at 1

C
at 1

C
at 2

C
at 2

-

1031
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

1039
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
-

-
-

1060A
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
C

at 2

1062
-

-
S

.E
.P

S
.E

.P
S

.E
.P

-
-

-
-

-
-

1063
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

1064
-

-
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

S
.E

.P
S

.E
.P

1832
-

-
S

.E
.P

S
.E

.P
S

.E
.P

-
-

-
-

-
-

833GM, GM LS
-

-
S

.E
.P

-
-

-
-

-
-

-
-

Ball Valves

P
ro

d
uct

1/4"
3/8"

1/2"
3/4"

1"
1.1/4"

1.1/2"
2"

2.1/2"
3"

4"

P
E

D
 C

ateg
orisation

 Tab
le

Check ValvesDrain Cocks Gate Valves

P
N

N
on- S

hock P
ressure @

 Tem
p. R

ange
N

on- S
hock P

ressure @
 M

ax. R
ange

P
B

700
40*

40 B
ar - 10°C

 to 110°C
10 B

ar at 180°C

P
B

500 R
E

D
25

25 B
ar - 10°C

 to 100°C
16.5 B

ar at 150°C

P
B

500 Y
E

LLO
W

25*
25 B

ar - 10°C
 to 100°C

16.5 B
ar at 150°C

P
B

300 R
E

D
/B

LU
E

16
16 B

ar - 10°C
 to 30°C

5 bar at 120°C

P
B

300 Y
E

LLO
W

16*
16 B

ar - 10°C
 to 30°C

5 B
ar at 120°C

P
B

100
25

25 B
ar - 10°C

 to 100°C
4 B

ar at 120°C

1065
17.5

17.5 B
ar - 0°C

 to 25°C
17.5 B

ar at 93°C

1068
20

20 B
ar - 10°C

 to 100°C
9 B

ar at 180°C

1072
32

32 B
ar - 10°C

 to 100°C
14 B

ar at 198°C

1070/125
20

20 B
ar - 10°C

 to 100°C
9 B

ar at 180°C

P
81M

16
20 B

ar - 10°C
 to 100°C

9 B
ar at 180°C

63
16

16 B
ar - 10°C

 to 30°C
5 B

ar at 120°C

G
M

63
16

16 B
ar - 10°C

 to 30°C
5 B

ar at 120°C

1029
32*

32 B
ar - 10°C

 to 100°C
14 B

ar at 198°C

1031
32

32 B
ar - 10°C

 to 100°C
14 B

ar at 198°C

1039
32

32 B
ar - 10°C

 to 100°C
14 B

ar at 198°C

1060A
25

25 B
ar - 10°C

 to 100°C
10.5 B

ar at 186°C

1062
25

25 B
ar - 10°C

 to 100°C
10.5 B

ar at 186°C

1063
8 - 12

0°C
 to 90°C

90°C

1064
8 - 12

0°C
 to 90°C

90°C

1832
10

10 B
ar - 0°C

 to 120°C
10 B

ar at 120°C

833G
M

, G
M

 LS
10

20 B
ar - 10°C

 to 100°C
13 B

ar at 120°C

Ball Valves

P
ro

d
uct

O
P

E
R

A
T

IO
N

A
L LIM

IT
S

Globe ValvesCheck ValvesDrain Cocks

Globe Valves

Gate Valves

PB700
11.5

11.9
15.4

16.7
19.4

21.7
21.4

26.0
30.5

33.5
39.5

PB500 RED
11.5

11.9
15.4

16.7
19.4

21.7
21.4

26.0
30.5

33.5
39.5

PB500 YELLOW
11.5

11.9
15.4

16.7
19.4

21.7
21.4

26.0
30.5

33.5
39.5

PB300 RED/BLUE
-

-
-

-
-

-
-

-
-

-
-

PB300 YELLOW
-

-
-

-
-

-
-

-
-

-
-

PB100
-

-
12.7

14.0
16.2

18.5
18.5

22.8
-

-
-

1065
-

-
12.7

14.0
16.1

18.5
18.5

22.8
-

-
-

1068
-

-
15.0

16.3
19.1

21.4
21.4

25.7
30.2

33.3
39.3

1072
-

-
15.0

16.3
19.1

21.4
21.4

25.7
-

-
-

1070/125
11.4

11.4
15.0

16.3
19.1

21.4
21.4

25.7
30.2

33.3
39.3

P81M
-

-
-

-
-

-
-

-
-

-
-

63
-

-
-

-
-

-
-

-
-

-
-

GM63
-

-
-

-
-

-
-

-
-

-
-

1029
7.5

7.9
9.9

11.1
12.3

14.3
14.3

18.2
19.8

22.6
-

1031
-

-
9.9

11.1
12.3

14.3
14.3

18.2
-

-
-

1039
-

-
9.9

11.1
12.3

14.3
14.3

18.2
-

-
-

1060A
-

-
15.0

16.3
19.1

21.4
21.4

25.7
25.0

33.0
33.0

1062
-

-
15.9

16.7
19.0

-
-

-
-

-
-

1063
-

10.3
12.8

14.2
15.0

15.2
16.4

17.2
19.8

26.0
26.6

1064
-

10.3
12.8

14.2
15.0

15.2
16.4

17.2
19.8

26.0
26.6

1832
-

-
-

-
-

-
-

-
-

-
-

833GM, GMLS
-

-
-

-
-

-
-

-
-

-
-

Ball ValvesGate ValvesGlobe ValvesCheck ValvesDrain Cocks

5
0
7
5
 
P
e
g
l
e
r
 
M
a
i
n
t
e
n
a
n
c
e
 
I
n
s
t
r
c
 
 
1
/
3
/
0
5
 
 
9
:
1
9
 
a
m
 
 
P
a
g
e
 
2

For latest prices and delivery to your door visit MyTub Ltd - 0845 303 8383 - www.mytub.co.uk - info@mytub.co.uk


